Part 1 (60 marks)

For each question from 1 to 30, four options are given. One of them is the correct

answer. Make your choice (1, 2, 3 or 4). Shade the correct oval {1.2,30r4)on
the Optical Answer Sheet.

1. Some animals have been classified into two groups as shown below. Which-of-.
rthe~feliewiﬂg-af&suitableheadings—fepih&hna—greupsf?—
Gt bifth ) oy €gas
Group A Group B
Kangaroo Platypus
Guppy Alligator
Wolf Praying mantis
Which one of the following characteristics of the animals was used to classify
them? _
1)} Number of legs - 3) The way they move
2) Reproduction method 4) Type of outer covering

2. Which one of the following organs belongs to the human digestive system?
1) Lungs - 3) Gullet )
2) Stomata 4) Ribcage

3. Katherine wrote the following statements about the human body system.
Which one is incorrect?

1) Arteries belong to the circulatory system.

2} The human skeleton gives our body its shape.

3) Windpipe and gullet are part of the digestive system.

4) Saliva is produced in the mouth fo aid digestion of food.

4. Timothy was given 2 cell samples, Cell A and Cell B, as shown below. He
came to the conclusion that they were plant celis.

nuclei
Which of the following supports his conclusion?

1} Presence of nuclei 3} Presence of cell wall
2) Presence of chloroplasts 4} Presence of cell membranex



Which of the following statements are true of a human baby? |

its cells live forever,
B: It has many kinds of cells of different shapes. .
C: The nuclei in its cells contain genetic materials.

X Conly
2. AandB only

3. Aand C only
¥)- Band C only

Evangelique did the following set-up and left it for 1 week.

Layer of oil

Blue solution

Which of the following would she abserve after 1 week’?

b
2y.
)
Xy

Water level Colour of leaves
increased mostly green
increased mostly blue
decreased mostly green
decreased mostly blue

Susan arranged some magnets as shown below.

A-te

o

E

8

Which of the following shows the

magnets?
AIDIFIR
MIN|STSIN
Nl sislisTs
2 N|SININ
AHALS|IN|NTs

possible arrangements of the poles of the



10.

11l

All the following gives off light on their own except

1) firefly - 3) bonfire
2} wood 4) tlightning

Which of the following statements does NOT show a use of light energy?
1) A boy watching a movie. :
2) Plants trap sunlight to make food.

3) Boiling a pot of water over the flame of a stove.
4) A motorist gives a left turn signal before making the turn.

In the diagram below, the path of light is indicated by the arrows. What does A,
B and C represent?

P A B C
E’)\ Object Eyes Light Source
2 Eyes Light Source Object |
3Y | Light Source Object Eyes
4|  Light Source Eyes Object

The picture below shows a tog and its shadow. Which position is the Sun likely
to be for such a shadow tc form?

%% @ 3) {%ﬁ
-
I |




12.

13.

Christopher carried out the experiment below and cast a shadov;on the wall.
He repeated the experiment with the torch at different distances from the ball
{(X), and the ball at different distances from the wal (Y). The table below shows

the distances X and Y which he experimented on and the corresponding
shadows.

i X g Y
~ L
™~ Q
torch Pi ong ball
© 9 pong wall
Distance X Distance Y Shadows
5cm 20 cm A
10 cm 10'cm B
10 cm 15 cm C
25 cm 10 cm D

Arrange the size of the shadows in ascending order.

1) A B,C,D
2) D,A.B,C

Which of the following recorded temperatures is correct?

3) B,C.A,D
4} D,B,C, A

Susan’'s Water Surrounding air at | Ice cream in
body boiling noon (in S’pore) a cone
pt g 10°C 29°C 100°C 37°C
2 100°C 37°C 10°C 29°C
% 37°C 100°C 29°C -2°C
Ay 29°C 10°C 37°C 100°C




Study the diagram below carefully and answer Questions 14 and 15.. -

™ (" ™ e ™ '

14.  Patrick poured the liquids from Reakers A and B into Beaker C. Which of the
following will most likely be the temperature of the liquid in Beaker C?

SY 25°C | X 65°C
). 40°C K 125°C

15.  Patrick was given 4 different thermometers fo use to measure the temperature

of the liquid in Beaker C. The temperature range of each thermometer is
shown below. :

Thermometer | Temperature range |
A 30°C - 45°C
B 85°C —130°C |
C 0°C —50°C
D 20°C - 90°C

Which thermometer{; should he use?

A ¥ C
% 8B . 4% D

16. Sarah observed an Indian man selling ‘Teh Tarik’ {milk tea) pouring the tea
from Mug A to Mug B at a height as shown below. Her friend explained that it

was to cool the tea faster. Which of the following best explains how this was
achieved?

‘Iﬂ Mug A losés heat to Mug B.

2] Hot tea loses heat to Mugs A and B.

3}, Mug A loses heat to the surrounding air.
Hot tea loses heat to the surrounding air.



17.

18.

Sally recalled from one of her Science lessons that dark colours absorb heat
better than fight colours. She decided to conduct an experiment fo prove this
point. She used two cans, A and B. Can A was painted white while Can B was
painted black. Both cans were at room temperature before the start of the
experiment. The cans were placed in the middle of a field and the temperature
of each can was recorded over 30 minutes. She then plotted graphs using the
data that she had collected. Which one of the following graphs shows the
correct temperature changes of Cans A and B? :

A 2
1 4k
T

-

P P
e

Iy

. . thermometers O
. R

A&B

Temperature
\>
[¢:]
Temperature

Time Time
A
/ B

Time Time

Temperatura
\m
) .
Temperature

Which of the following are classified under the correct states of matter at room
temperature? '

Solid Liquid Gas
"W Butter Nitrogen Alcohol
22y {  Oxygen Sugar Petroleum
>3} | Oxygen Alcchol Butter
W Sugar Petroleum Nitrogen




19.  Kathleen had 4 similar cylindrical containers containing differ-e_nt;materials,
each with a mass of 500g as shown below. If all the containers were filled 1o
the top, which container would be heaviest?

(M 4

.8

»
e
e

o

Container + Material A

Container + Material C

= 500g) = 500g)
20. Study the table befow.
Group R Group S Group T
Snow Rain Steam
Iceberg \ Water vapour) Morning dew)
Ice cube Water droplets Oxygen

Which of the following items have been wrongly classified?

1) Snow and lceberg 3) lceberg and Water vapour
2} Snow and Morning dew - 4) Water vapour and Morning dew

21, Study the water cycle below.

( Clouds J4\M

Rainfall - , : lTNater vapour’l
\> l Ocean J
: N

Which of the foliowing fepresents the processes, M and N, respectively?

M : N
R Evaporation ) ' Melting
2} Evaporation Condensation
3) Condensation Evaporation
4} Freezing i Condensation




22. Ryan was given 4 beakers of water, each containing the same amount of
water but different temperatures.

A B c D
95°C 45°C 30°C 60°C
Arrange the 4 beakers based on their rate of evaporation, from the fastest to
the slowest.
A3 A B, CD - 2% C,B,DA
X ADBC # C,0,BA

23.  Which of the following statements about the life cycle of a butterfly is true?

A catempillar moults as it grows.
~2}. A caterpillar is in the pupa stage.
28] Abutterfly lays its eggs in water.
# The life cycle of butterfly consists of 3 stages.

24.  Study the classification chart below.

Life Cycles
I
_[ | i
A i
Beetle Chicken
Butterfiy Cockroach
Mosquito | Moth ]

Which one of the following is wrongly classified?

1) Moth

3} Chicken
2) Beetle

4} Mosquito



25.

26.

27.

Read the following statements carefully.

A
8:
C:
D

The shoot appears.
The root appears.
The seedling grows into an aduit plant.
The Egediabsorbs water. .

A'rﬂrange the statements in the order in which a seed germinates. _

)‘(L A, D, BC

& D,

L.cok at the fruits below.

Which of the following best depicts the distance each fruit travels when

B,AC

dispersed if the total weight of each fruit is the same?

Furthest distance travelled during dispersal
A B D
W 8km 4 km 15 km 12 km
1 12km - 8km 12 km 15 km
Syl 4km 8km 12 km 15 km
H|l 4km 8 km 15 km 12 km

Study the table below carefully.

Fruits | Size Weight | Characteristics
A large - 2 kg sweet-tasting, has fibrous husk
B medium 1kg brghtly coloured, sweet-tasting
C smatt 0.6 kg | looks like a pod, has many seeds
D small 0.3kg | dull coloured, has hooks

Which of the above fruits are most likely to be dispersed by animals?

K. A and B only

“‘31’ B and C oniy

& Band D only
3y, C and D only




Study the table below carefully and answer Questions 28 and 29,

28.

29,

30.

[ Petals
Flower |— Size Colour Smell
A Large White _Unscented
B Small White Unscented |
C Large Brightly coloured Scented
D Smail Brightly coloured Unscented

Which flower is most likely to be visited by the least number of insects?

XA 8 C
) B A D

Joseph wants to classify the above 4 flowers into 2 groups, A and B, based on

the information given in the table above. Which of the following are possible
headings?

——

Group A Group 8
Ny Wind-pollinated Insect-poflinated -
2)|____ Self-poiiination Cross-pollination
3) Female flowers Male flowers
k.)’ Bear sweet fruits Bear non-sweet fruits ]

Which one of the following cannot be inherited?

1} Colour of hair 3) Colour of iris
2} Length of toenails 4) Length of eyelashes

10
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Part 2 (40 marks)

Answer all the following questions.

31. Study the classification chart below.

Materials
i
] ]
M N
1 {
Aluminium Wood
Gold Cloth
Steel Paper
fron ' ‘ Marble
Silver Plastic

a} Suggesta suitable heading for Groups M and N. (Zm)

M
N

b) Complete the classification chart below for the materials in group M, giving
appropriate sub-headings. (2m)

B

10



32. The bar chart below shows the amount of oxygen in four blood saﬁwpies taken
from different blood vessels in the human circulatory system.

Amt of oxygen

c D
Blood samples

a)  Which sample is most tikely to be taken from the blood“vessel which carries
' blood from the heatt to the lungs? Explain your answer. (2m)

Lungs_
w Yo
Heart
X z
All paris of
the body

b) Based on the above diagram, which bload vessel, W, X, Y or Z, could blood
sample B be taken from? {1m)

11



33. A group of pupils took 2 identical beakers and labelled them as A and B
respectively. They poured 300cnt of water into each beaker and placed a
small plant into Beaker A They then left both beakers in a shady place for 3

days.

B

a)  In the diagram below, draw 2 graphs to show the changes in the water fevels in
beakers A and B. Label the graphs, A and B, respectively. (2m)

4

Height of water leve! {cm)

Number of days

b}  Explain what could have caused the changes in the water levels in beakers A
and B. {(2m)

—

Beaker A

Beaker B

12



34. A magnet was hung from a retort stand. Yasmin then brought both é}i&s"oi‘ 2

b)

35.

b)

objects, X and Y, close to the magnet. She recorded her observations in the
table below.

_1
i A B | Object X
A B | ObjectY
magnet
f ]
L -
Objects End A End B
X Repelled Attracted
Y Attracted Altracted

Based on the results, Yasmin concluded that neither one of the objects is a
magnet. Do you agree with her? Explain your answer. (2m) '

~ Give an example of the material that Object Y may be made of. (1m)

Jason drew the flowchart below to show the flow of food in a human digestive
system.

small large

. ) . - — stomach
intestine intestine

mouth —» anus—»

Which two organs have been wrongly placed? (1m)

Jason's father, who was suffering from colorectal cancer, was advided by his
doctor o have his large intestine removed to prevent the cancer cells from
spreading. Jason is worried that his father wili not be able to digest his food.
Will the removal of his large intestine have any effects on his digestion of food?
Explain your answer. (2m)

13




36. Katelyn and Joyce carried out an experiment as shown below to find out how
well different materials conduct heat. The 3 containers were made of different
materials, A, B and C. Each cup was fifled with hot water. The changes in the
temperatures of the hot water were then recorded over a period of time.

Thermometers

Material A Material 8 Material C

a)  List 4 variables that must be kept constant to ensure that the experiment is a
fair test? {(2my)

b)  The graph below shows the temperature change of the water in the 3 cups.

A

\\
\\- \B::‘A\\

N

Temperature

» Time

(i) Based on the graph, which materiat is the best conductor of heat? (1m)

(i) Based on the graph, which material can be used to make a container for
storing ice blocks? {1m)

14 l: 4




37. Roslyn passed light through 3 cups of different materials, each filled with sand.
Draw lines {o maich the shadows that will be cast on the screens if cup A is
opaque, cup B is transparent and cup C is translucent. (2m) '

/

L~

/
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\
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15 A



38. Suzanne set up the experiment helow. She used identical flasks. Flask S is

placed in boiling water. After 2 seconds, she noticed that the ink dropped
further in the tube in flask T as shown below.

~

ink level at start of experiment

ink fevef after 2 seconds

S T

Explain why the ink dropped further in the tube in flask T. (2m)

39. Susie was given the following set up. She was asked to push the inverted cup
-into the trough. '

Dry tissue

Plastic
cup

Trough of water

a) Stat_e the aim of the above experiment. (1m)

b) Ifahole, the size of a 1-cent coin, is ma

de a point X, explain why the
experiment will fail. ( 1m)

16



40. Steven was given the 2 containers below, one filled with water and the other

filled with sand. Upon seeing that both took the shape of the container, he
concluded that sand is a liquid, just like water.

Is Steven’s conclusion correct? Explain your answer. (2m)

b)  Why was it possible for sand to take on the shape of the container? (1m)

-

41. Compare the life cycles of a grasshopper and mos

quito. List a similarity and a
difference between the 2 life cycles. (2m) '

Similarity

Difference

17



42,

Study the family tree below carefully.

Tan Family

@ Dimples & Sharp

nose
A Sharp nose &
e Curly hair
Curly hair
a) nd Kelly Tan Indicate Sandra on the
b) s father have that she did not inherit? (1m)
C}  How many People have Curly hair? (1 m)
43

Study the table below.

cells produced

18



44. Jimmy grew 2 groups of seeds, one group in cotton woot and another in géi'den
soil. The diagram below shows the seedlings that had grown from those seeds.
Both groups of seediings were then placed in suntight and watered daily.

Cotton

wool! m
Set-up A

a) What should Jimmy measure to find out in which set-up the plants are
healthier? (1m)

b) In which set-up WElfJit-nmy observe hedlmier—looking plants after 1 mohth?
Explain your ariswer. (2m) _. | L )

19




EXAM PAPER 2009

SCHOOL : SCGS PRIMARY
SUBJECT : PRIMARY 5 SCIENCE

TERM : SA1
QL 1 Q2| Q3104 Q51Q6] Q7] Q8] Qs 1Qio]Qii]oi2 Q131 Q14| 0i5[ Q16 [ Q17
23334422321433442
QI81Q19 1 Q201 Q21 [ Q22 Q23] Q24 [ Q25 | Q26| Q27 028 Q291 Q30|
4 1414312113223 [372(17T3
31)a)M: Metals N: Non-metals
b)Magnetic Non-magnetic
- Steel Gold
Iron Silver
Aluminium
32)a)C. Oxygen has been used up so it has the least amount of
oxygen. :
b)Blood vessel Y.
33)a) .l J

reight of water level (cm)

Humber of days

b)A: The roots of the small plant takes in water .

The water from the beaker has evaporated.

B: The water in the beaker

air and evaporated.

Pagelto 3

gained heat from the surrounding

page 1




34)a)No, I do not agree with her. Object X is a magnet because
its unlike poles attract the magnet and like poles repel the
magnet.

b)Steel.

35)a)Auns and stomach.
b)No, Digestion only take place in the mouth stomach and
small intestine./Digestion of food ends in the small intestine.

36)a) i)The type of thermometers used.
ii)The initial temperature of the hot water.
iii)The place the experiment was conducted.
iv)The duration of the experiment.
b)i)Material C.
ii)Material A.

37)A=2 B=3 C=1

38)Air in flask S expands when heated, occupying more space.
Therefore, it forces the ink tube to drop.

39)a)It was to find out whether air occupies space.
b)Air from the plastic cup will escape and water from the
trough will enter the plastic cup. -

40)a)No, Steven'’s conclusion is wrong. Sand has a definite shape,
unlike water which does not have a definite shape.

b)Sand particles are very small, so they take on the shape of
the container. . '

41)Similarity: The adult of a grasshopper and mosquito lay eggs.
Difference: A grasshopper has only 3 stages in its life cycle
while a mosquito has 4 stages in its life cycle.

Page 2



42)a il
) ) Tan Family Ng Family

G-
N
7

b)Dimples
C)5 people.

43)X: Sperms
Y: Ovary

44)a)Jimmy should measure the thickness of the stem and the
colour of the leaves of the plants.
b)Set-up B. Garden soil has nutrients while cotton wool does

not have nutrients, so the plants will grow more healthily in set-
up B. : '
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